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7 ورقة عمل  



 

1 

 

ورقة عمل 

  الرياضيات 

 

ر ناتج )إلى أعلى منزلة(: 1س
ّ
 :أقد

①   375 × 6 =     

 

②   2381 × 5 =     

 

③   3943 × 72 =    

 

④   61 × 58 =    

 

 

ر ناتج )باستخدام الأعداد المتناغمة(: 2س
ّ
 :أقد

①   235 × 4 =     

 

②   1937 × 5 =     

 

③   2736 × 4 =    

 

④   2136 × 5 =    
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ورقة عمل 

  الرياضيات 

 

ر ناتج )إلى أعلى منزلة(: 1س
ّ
 :أقد

①   375 × 6 =     

         400 × 6 = 2400 

②   2381 × 5 =     

         2000 × 5 = 10000 

③   3943 × 72 =    

         4000 × 70 = 280000 

④   61 × 58 =    

        60 × 60 = 3600 

 

ر ناتج )باستخدام الأعداد المتناغمة(: 2س
ّ
 :أقد

①   235 × 4 =          

         250 × 4 = 1000     25 × 4 = 100  

②   1937 × 5 =          

         2000 × 5 = 10000    20 × 5 = 100  

③   2736 × 4 =         

         2500 × 4 = 10000    25 × 4 = 100  

④   2136 × 5 =         

          2000 × 5 = 10000    2 × 5 = 10  

 




